Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI « EXAMINATION - SUMMER- 2017

Subject Code: 3361903 Date:06-05-2017
Subject Name: Industrial Management
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
Q1 Answer any seven out of ten. €2UHLl SlEURL Ulctoll cllol WU
1.  Explain the term system as referred in management.
1. AaxNoeoll ActelHl M AHesAl
2. List the factors affecting job satisfaction.
2. olol ARFsU ol UAR sl UIleloll ALEl oot
3. Explain the term value analysis.
3. A Aol uuenaAl.
4.  Explain the importance of routine in PPC.
¥. PPC Hi 3loto] Heccl AU
5. How JIT (Just in time) concept helps increase productivity?
W 5l A AT (2 et 2leH) GAUlESAl dUlRallMl HEE $R B?
6.  Which are the general forms and formats used by purchase engineer?
S, SUl KUl AlHeRL 23W WA 6itlRB0 WILEL Sxal? glal cuRlA B?
7. List different direct and indirect materials used in industrial situation.
9. AaAEls WRRAQHL Gualat vl QYU Ycuel W uet uHflell
ALEl wallcl .
8.  In network planning how the float benefits the end assembly.
¢. aeds AUl 3l A sAle v Al cuetel aa 8.
9.  State various types of systems and explain any one with line diagram.

QR ysRell @21 vl v sleupl As uus(d A At
10. Define EOQ.
0. EOQ cavuld 3.

&

Q.2 (@) Define (1) Activity (2) Event and (3) Dependency
s () cauRld s (1) ygla () sletlal Aal (3) Adcsat

OR
(@) Define Updating and how it is applied in network planning.

1) AUUIZL cUuARA 5 Aal A Bl A Aead wlxetHl @y ud

8.

(b)  Explain Open system and system boundary.
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W Uol [ReH A Rred Alul umnesdl

OR
Draw the block diagram of organization structure for a medium engineering
unit.

As HeAH AEBQAURL AsH HIZ daslal HiouL ol 6clls SLUUH
€12\

Explain the importance of material management and its control methods.
AH A No2o] Heel AU A A Aoll (220l uglall AMestal.

OR
Differentiate CPM and PERT.

CPM e PERT oll d$lalc a4l
Explain the concept of ABC analysis for effective inventory control.
WARWBRS oo 3| (212l HZ Aol [Qeamul vud UHosLA.

OR
Explain the necessity of dummy activity in network diagram.

Az algld Ui 33 cotladl ygl Axestal.

State the basic characteristics of MS Project with regards to activity planning
and analysis.

Yg@ 0ot Al (A2AMEL 12 MS Project oll Yoejd A&dl

AHes Al

OR
Derive the term EOQ=V (2A0/UC), where A-Annual requirements in units,
O-Ordering cost per order, U-Unit cost, C- Carrying cost in %.

EOQ=V (2A0/UC) cRall. »al A- cllls 3Rl Yolle Hi , O- 18R

Els WS (S, U-yolle W, C-cget WA %
List the component of cost involved in ordering material.
Aol ALHL AR, WL Uesall ael wattal,

OR
Explain with suitable diagram the Wilson ideal inventory model.

21021 dults(A A (Qctot wtedl da2dl Mse uHestal.
Explain the important steps in purchase procedure.
WRlEl ylsall oll dlReoll UL AHLA.

OR
Explain the codification method used in store keeping.

@R SlUlot Hi Gualoi AauHi vadl el ugld dxestal
Explain the importance of scheduling in PPC.
PPC Hi Asyclole] Hscel AMestal.

OR
Write a short note on a Job type of production situation.

B 2leU Beuleot URRA UR &5 ol Awl.
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From the following details draw the project diagram and state critical path

Process A| B |C D E F
Immediate preceding activity | - | A| A | BC | B | ED

Time in days 3| 5] 6 5 4 7

ol Aol Hlecll uell Wpse 2uitsld ua (BRsA wa €12
u%[a A|B|C D F
qRctell yAowrl slauzdl - A | BC|B|ED
UM Rauu 31565 7
OR

From the following network details draw (1) the critical path (2) for each

event calculate EPO and LPO.

Activity A B C D E F G H
Immediate | - A A A B |[BCD| D | EFG
preceding
activity
Time in 4 12 6 4 15 20 8 9
days

Al Aead HIRA w2l (1) Sl8lse W (2) €35 Yol HI2 EPO

and LPO a(el.

yg[@ AlB|[Cc|D|]E| F |G| H
ql,?dcrﬂ Hai)ll]-ﬂ - A|lA| B BCD|D|EFG
sl
AHA (@ aunl 4 112 |6 | 4 |15 20 8 9
Explain the importance of Labor laws.
HoR SLAELRA o] HEcel AHLCl.
OR

With reference the following data calculate EOQ.
1) Annual average requirements = 18,000 units

2) Ordering cost = Rs.100 / each order

3) Unit cost = Rs.25
4) Inventory carrying cost = 10 % of a unit cost

o{lAetl 321 Ul EOQ oll 21l 2.
1) s U222 ¥3RaA = 18,000 AsHl

2) Aot (BHA = 3. 100 / €35 ASR
3) AsH W =

3. 25

4) SoQo23| ceol WL = As Ylle slesll 10%
State various types of floats as referred in network diagram.
Azad wglaui vadl @YU yslRell scllad AH1Al.

Prepare a scheduling using Gantt chart from a given data:
Name of the component- M25 standard hexagon nut
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Material list-25 mm right hexagonal bar of a standard length,
Minimum batch size- 500 numbers per shift of 8 hours

AU 1Al uRell Aoz eell Heeell Asycllol dauR A
U2s of ollH - M25 2is$ Meslal ol2

Weldlaat dlze - 25mm yHIRed dolgall A2 M2 5L WIR,
oottt AR UBS -8 sclls Woll €ls 500 dlw

State the concept, its need and significant benefits associated to a logistics.

AR s ol vALA, Aoll ¥33lald Aol dlluulat clel LUl

How value analysis is done with questioning approach and why it is required?

3cl Al yeau [@Qeang, ystiac ofl ywulQell saul wd & wa d

Al M2 %33 87
State the advantages of centralized authority concept in industry.
Gelol Hi 3lohcl AUl vUA oll cllet sRULCl.
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